6 ceHTabps.
KnaccHasa padoTa.



Cuuntam yctHO. Ucnonb3yn
npaBuna nepecTtaHOBKM.

‘“ﬂ,

e

Y 8+5+2-= 8+2+5=

Po27+40+3= 27+3+40=

v, OT NepecTtaHOBKMU MeCT
2% cnaraemMblX CyMMa He
MeHdaeTcs!



YCTHO!
Kakve unrypesl n306-

Ha kakue FpyRRbl-X




C. 5 Nel
Pewwu yaobHbIM cnocobom
1, 3 cTONOUK

C.5 Ne2

Buiuyucnur

C.5 Ne3




Pewaem
C.5 No4

3agavy
Jlarepb - 3 }
P
eaenu -
[lepeBHsi 3 13 1 Heaento

PewuTtb 38navy no
AEeUCTBUAM, BbipaXeHneMm




[lomalluHee
3afaHune.
Ctp.5Ne6, 7
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2x1

[ToBTOPUM TAabnNuuy
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, JMHO

7

2x7J

eHnA

3x1
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